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Q.1 Ra-TeaH | fora=ft wiza arfaat (Banis) €7

Ans X A.8719
X B.23d3
& C. 495
X D637

Question ID : 1034358991
Status : Answered
Chosen Option: C

Q.2 <RI |71 320 2023 # (WAt 2022 a Y fR&fA & srguR) siazfeha si<ifus afafa Hi aswart

e aTeT 87?
Ans X A SUH
" B. 3z
X C. s
< D.Ad

Question ID : 1034359014
Status : Marked For Review
Chosen Option: C

Q.3 fa=fafaa 7 9 forge vaa gad sifdes glar 82

Ans o A TR
/< B. Rt &1 3
X C.ur
75 D. fee=

Question ID : 1034358995
Status : Answered
Chosen Option : A



Admin
Stamp


Q.4 2008 # fore1 g} wiruTstt it AT @ &S AT ur?
Ans X A Ied ofk afaa

< B. 9%pd SR Ferared

< C.3fersiR was

o D. 7S AR Ay

Question ID : 1034359010
Status : Answered
Chosen Option : B

Q.5 Wt 2022 ¥, fa= wsht fAder darmora ____ R ugen fta Wi s «t=a faram)
Ans X A SITdeh

75 B. HgM™RA

o C.uaas

< D. IH™goT

Question ID : 1034358992
Status : Answered
Chosen Option : A

Q.6 fa=faf@a d @ ot ot et ar=f 2022 q IC C afgen fay wu & sfagra & gad 1w
fardhe @7 areht Aearst a9 mft?

Ans X A gTd &R
< B. fq Herr
< C. fareh =
o D. oA Teardt

Question ID : 1034359015
Status : Answered
Chosen Option : D

Q.7 fa=fafE@a d @ &t ot arft s g & a8 urd st 82
Ans o A WG HTEEE

X B
X C.mg
X D.fagd

Question ID : 1034359000
Status : Answered
Chosen Option : A




Q.8 fam=faf@a & @ i fordhe & sfagra d wem Aoft Aw & fagwr eras 9417 aret ugs f™@erdH

T1?
Ans X A 9gd HAR
75 B. Sy 3/
o C. arfchga I
< D. 2fey SRR

Question ID : 1034359017
Status : Marked For Review
Chosen Option: C

Q.9 f=fofEa d & frs wradt 2022 # WRa &y AT AT YRET GHGdS & w4 d A1fAd

ferar ma ar?
Ans X A gl st
< B, yaq
o C.Sfl. sl R
2 D. &R g

Question ID : 1034359009
Status : Answered
Chosen Option: C

Q.10 1930 & T ATAT Y& ¥ A Uge @11 AGTHAT Mieht & Wwor ht A1 & forg frg 9 Fae oz

QeRfad gu &
Ans X A drdt

X B.7ar
< C. et
& D. GreRHd

Question ID : 1034359004
Status : Marked For Review
Chosen Option: D

Q.11 Hurer faghy &a gom ar?
Ans X A.1845-46

«” B.1855-56

25 C.1875-76

X D.1865-66

Question ID : 1034359005
Status : Answered
Chosen Option : A




Q.12 fa=fafae 7 @ forw wsa 3 Hifvgz Aeraa ardiata Afaafg 2021-22 § geul o fRae

Sfar?

Ans X A dcRTAT

« B.gRamn

X C.3dan

< D. e

Question ID : 1034359016
Status : Answered
Chosen Option : B

Q13 ________ 3 heter<T & ai=T ATATAT ht TATYAT Y|

Ans o A faffgma sfdffam 1773
X B.arET aifdfge 1853
< C.aréz sfafaw 1833
< D.fuca fzargae 1784

Question ID : 1034359013
Status : Marked For Review
Chosen Option: B

Q.14 2022 & 7€ & AR, A -ArsH Tl & forg trgw nfer erfs areeen= & aga
2022-23 # fopaa fepetehie: adhta et o1 faam forar srem?

Ans X A.30,000 km
«” B. 25,000 km
7< C. 35,000 km
2< D. 20,000 km

Question ID : 1034358994
Status : Marked For Review
Chosen Option : A

Q.15 f¥yefir________ & i fa fearera & fewd &) usie ferrea & &u | SI1E1 Sirdr g
Ans o A Tddsl

X B. &

X C.3E

X D.gem

Question ID : 1034358999
Status : Answered
Chosen Option : D




Q.16 fafdres Qar wfdemzor sifdfaran, 1987 i fora e & aga it Aes sreTerd 1 At farar
ST 82

Ans X A 9R122-E
5 B.URT22-A
o C.9R122-B
25 D. 9r122-D

Question ID : 1034359011
Status : Answered
Chosen Option : B

Q.17 ferifar Axifae Aefaf@a d 3 fra oo A fRa g2
Ans X A HERE

< B. detm

X C.3g

& D. uffm et

Question ID : 1034358988
Status : Answered
Chosen Option: D

Q.18 #gTadY, METast, oo SR st st adfy afeai A ________ ae g g2 el o1 fanfor farar g1
Ans o A SRIFHSA

< B. @&
X C.3=nd

25 D. ATER

Question ID : 1034358998
Status : Answered
Chosen Option : A

Q.19 anf¥es wderor 2021-2022 & TR, TdaR 2021 & 3id dh, WRA gfAard ________ qaa 371
fard2ft et YiER UIRe

Ans X A @RI
/< B.uf=at
F C. e
X D. d=r

Question ID : 1034358993
Status : Answered
Chosen Option : D




AT QI fordt 82
Ans o A ST SR

< B. gy T
< C. ofig afean

£5 D. SATRT T

Q.20 f=fafEa 7 @ fFes ' wided: T i oife dua de g geimatd g sl faferefa et (The
Founders: The Story of Paypal and The Entrepreneurs Who Shaped Silicon Valley)'

Question ID : 1034359008
Status : Answered
Chosen Option : B

Q.21 T ATHHT & TR HGTT A T STH FHgl gl q1?
Ans o A IWEIC

< B. &EHR
5 C.hYR
X 0.

Question ID : 1034359003
Status : Answered
Chosen Option : A

Q.22 fa=fefada d 9 &7 91 g WS 82
Ans X A fedHiamr

< B. Rifafdzm

o C. wirsHiTeTH

Z< D. g3t

Question ID : 1034358997
Status : Answered
Chosen Option: B

Q.23 9Ra & dfaer &1 ugen dwmtem srfdfamad ________ & @y gam
Ans o AL 1951

X B.1954

< C.1955

< D.1953

Question ID : 1034359012
Status : Answered
Chosen Option : A




Q.24 7 U2 & ASAUT HI WI$ U 3 Beast 2022 7 ________ ESRIE! T I T I
femam

Ans X A. 509
«” B.48d
X C.42d
< D. 453

Question ID : 1034358990
Status : Answered
Chosen Option : B

Q25 ________ forergt (fRrgroft) & = d frgeh 1= arlt uget afger 0
Ans X A TefeRT

25 B. USIERT
& C. AgTUSIUfd Tiiaet
< D. T

Question ID : 1034359002
Status : Answered
Chosen Option: D

Q.26 fAm=faf@a 7 @ ford weadt 2022 F AfFw Au A23 & Fis ddus & w0 & Arfaa forar mar ar?
Ans X A. R @™

< B. GeEHE @M
X C. 3% srcft @M
o D. AETE @H

Question ID : 1034359006
Status : Answered
Chosen Option : D

Q.27 fawrerdt v d '@ vs af vwRFrFAYFR ________ & &9 § SI11 v 21
Ans X A gfm

« B. &

X C.gad

< D.gfgan

Question ID : 1034359001
Status : Answered
Chosen Option : A




Q.28 famfafaa & @ farg d@ftaswa 1999 7 wiza =1 Sftar ar?

Ans X A gRuame RfREan
2< B. ufed Ragar emf
o C.ufea 3 iz
/< D.3Wg fSfdeeg @™

Question ID : 1034358989
Status : Answered
Chosen Option : B

Q.29 Fra ugwor fAgsor 91 & SrqaR, AT ______

HI@ S1ET JHATT agar & forg forde g
Ans X A.228
X< B.253

& C.25
X D.325

ATgshIHIER TeRIR & HUT AT WTRY &t

Question ID : 1034358996
Status : Marked For Review
Chosen Option: B

Q.30 fA=fafaa 7 @ frd wradt 2022 & gd9m ifdRar & forg S1371 ga wied siazfdia fhen

AEtea qREhTR fAen?

Ans o A R g
X B. STISHT R
X C. g meghn

< D. fgg a @R

Question ID : 1034359007
Status : Answered
Chosen Option : B

Section : Reasoning

Q.1 TSI T OR UIHATHE & a1% 341X 30 m &, St fah iRt aerar & IR A 40 m 21 wak fA, awor
3197 R W TS YT & 3R GUHATHE-hithl Fdl A3 & TATATGR GSh U Il & 3R
3q gIfgft ok g3 @ uget 50 m AT @1 IF I 20 m TAAT @ 3R AT UL Ut 1 AT
& WR & Sithl Fd SR UHATHE & AISS & g F dieft g& & = a7 siaz @?

Ans X A.37.7m
X B.50m
& C.207m
X D.707m

Question ID : 1034359043
Status : Answered
Chosen Option : A




Q.2 g FyET ok sl it earagdes u| a8 w1 gQ foh Fual d & mE A 9w g, v
& ag graT=g ®9  w1d a3 9 {3 udfta gt g1, fAofa & far feg mg fAswut & @ ot a7

frsenef s a1 ATfdher &0 € SITERUT TvAT/d 8/81
HY:

oft 49, SR E|

Tt SR, ATdAR I

gaft errdaR, AR &1

forsenf:

1. gt R, AT E|

Il. g9ft R, a7 8l

. g a1, a9 €1

IV. gt aTdR, ROR |

Ans X A 7d st | SrgERUI AT 8 ofR T8 || STgERUI T 8|
2< B.%had s || STgERUI AT 8|
o C. HTd s | STRRUT AT |
< DI SR IV SHT e SrgeRuTah<d

Question ID : 1034359032
Status : Answered
Chosen Option: C

Q.3 f=fafEa sma 4, sngfaat aafwal S fafea Aforaf @t gufd § sikfafvm st d &

TE&aT] efwral i Twr gerfdt &)
Fesearchers ———— o

§

/,__% 14 \3 ~a— M arried Persons
9 |3

Cricket Fans _,.gé—/ J 16 \
17

Researchers - rteeraf
Married Persons - feenfga &t
Teachers - farares

Cricket Fans - fehéhe uigeh

fepaa feranfaa enteenal ar at ferehe uiaen € ar farers €, Afers i1 a8t 82

Ans X A.27
o B.29
X C.45
% D. 40

s Lt
8(15 / 13\ 13 §\13 —a—— Teachers
1 g
12

Question ID : 1034359040
Status : Answered
Chosen Option : B




Q.4 fag g fareul # & 39 sr&R-uyg &1 99+ Hiforg st fA=fefRa siaer | ver farg (2) & ==
3 3T
MILK, OFHO, QCDS, SZZW, ?

Ans X A.QWDS
o B.UWVA
7< C.UCDA
< D.QDWS

Question ID : 1034359018
Status : Answered
Chosen Option : B

Q.5 fag g frereul # & 39 Hwr @1 9g4 & St famfaf@a saer d us fRig (2) & fawrfra &=
Hehell 81
9,16, 34,66,134,?

Ans X A.243
X B.246
X C.234
o D. 266

Question ID : 1034359035
Status : Answered
Chosen Option : D

Q.6 39 ey o1 T+ RIfSIg e dfiwr srer-uyg 9 agl Ty g, St g8 ST&R-THg &l Uge
STER-TE | &l
DLJY : AOGB :: QTDW :

Ans X A TWGZ
2< B.NQAT
& C.NWAZ

2< D.NAWZ

Question ID : 1034359024
Status : Answered
Chosen Option: C

Q.7 fafem, deaner, 3w, R, gfaa ok Rera gen a9 gz v Y 8ilk i@ @l 43 &1 gfae
3R faera wen A g1 fAfa= ok darst Sk uR &1 3ga, FAfaw & ardf ok 48 81 dervet & arft
3R AT AT 8?7

Ans X A fawa
& B.g@a
X C.3ga
o D.Tem=n

Question ID : 1034359029
Status : Answered
Chosen Option : D




Q.8 Sia gdur s fA=ifeRa R & erguR PQ U <@ mar g, &t fag g w@ater @ gdor 7 fafda
Tl ufafia =afa &3

P
LDGISTICSI
Q

Ans @A 2D0IT2IDOU
XB gDlTIZIDOJ
Xcrocgcieiirce
XDTOQI2LIC?2

Question ID : 1034359047
Status : Answered
Chosen Option : A

Q.9 wourd, fa=ftar, =ur, @i, garar, T i eRig ara ggferai & Sit e 2R u 5qe dhg Y
3R srf¥g@ gl &1 &1 SrRig, TwaT & T4 g AT U g aur Far-r 31 fFem hY usiwh
&1 UT g1 Farr i ugih @rmr ag @1 foetar eiw wur i gt gord g1 & 7 Sraerd &
3R uy, fA=fafaa A @ = a1 sy ad @2

Ans X A 3RIg! 3T wuT ofR Yot & i H ST 8
X B. FaT 3R o 6 e R 21
o C. &1 8Yeh FamT 3R Uore! & &t A 33T 81
< D. T S 3 ofik o) & i H 3 21

Question ID : 1034359030
Status : Answered
Chosen Option: C

Q.10 f&Q g weMAT 3iiR frseput st eaTIqdes a1 ag A Y 3 FuAt A & 7 Sraerd 5 8, we
& ag graT=g ©  71d a2 9 f3= udfta gt g1, fAofa & far fqu mg fAswu & @ T @/
farseref AT @t ATfdher &9 @ SrgERUT A1/ B/8
HU:

TS Thudl, fZug

qaft sisTen, gHteRzor &1
ot fzue, =iste &1
farsen:

|. TS =ieieh, YRl &1

1. 9ft =iere, fEug &1

1. 9aft gefiepRor, ghudl &1
IV. 9t &istes, Terudl €1

Ans X A T FSHY | SITEROT RAT 8 3R AET || SgERUI R 8
< B3R IV & SIgeRUT & 8|
o C.HTd Y | STERUI AT B |
25 D. dhae s 11 SgERuT Rt 2 |

Question ID : 1034359034
Status : Answered
Chosen Option: C




Q.11 39 faered o1 99 < il 3MTpfa C & I vepR Haifda & /e werR siepfar B siepfar A &

Tefaa 21
‘o oA+
. an ?
L] ° ° L]
(A) (B) (C) (D)
Ans
$+ 40
X A
K'B. @
o] .g."
oV
K’D. @
$ Vo

Question ID : 1034359045
Status : Answered
Chosen Option: C

Q.12 39 AE-JIH T 99 < fOrHH G141 AT & Ao T Gad, AW 141 2arsg-g7d] & i1 A=E] &
A & Y & AT 2

Ans X A TgHfd: Ry
< B.9OR: fdwRr
< C. &7 Be-ger

o D.3~< : G

Question ID : 1034359023
Status : Answered
Chosen Option : D




Q.13 fyg g de o1 eaTIgde sreaT= Y SR I HEAT ol TG he Wil IUH HsErae g (?) &t
ufaefad &R gadt g1

5 6 g
W W ey

Ans X A6
X B.9
& C.8
X D.7

Question ID : 1034359038
Status : Not Answered
Chosen Option : --

Q.14 39 G fahrea o1 T &3 St foQ 71g ere2] & famara &t 39 e A 2rfar & foad 3 sidsh
ersEehier | feaTd 2d g
1.Glamour
2.Golden
3.Glucose
4.Gesture
5.Goldsmith

Ans X A.4,31,25
X B.4,31,52
% C.4,1,35,2
& D.4,1,325

Question ID : 1034359020
Status : Answered
Chosen Option: D

Q.15 =R H=1-fAer feg e &, fo=d @ ot fopedt 71 foret a3 veramT & ofiR ek rdva 81 @8
SrETe weEr-fAe g |

Ans o A (7,11,26)
X B.(4,5,6)
X C.(57,10)
< D.(8,13,22)

Question ID : 1034359037
Status : Not Answered
Chosen Option : --




Q.16 39 31&R-¥Hg &t ggaArg St FAr=fafAa sjgen @ |@&6fa adi 81
GSND, JQQB, MOTZ, PMWX, SKZU, VICT.

Ans X A PMWX
& B.SKzZU
X c.vict
2 D.MOTZ

Question ID : 1034359019
Status : Answered
Chosen Option: B

Q.17 39 a9 ARG T T4 &< ol FA=fef@a oot & = & dae o) gafaa wa @ gaafar @)
Tedrst, Ieadrst, MAh

Ans

X A

o B.

% D.

@5@@

Question ID : 1034359039
Status : Answered
Chosen Option: D

Q.18 uw fAfHa ge Wit &, 'SCRIPT' @t 'WMLOFP’ & v # forar sirar g1 S+t wrar # ‘MANUAL’
ot fora wer? forar srem?

Ans X A PQXDRI
7< B. PXQRDI
7< C. ODXKXJ
o D. OXXKDJ

Question ID : 1034359027
Status : Answered
Chosen Option : D




Q.19 =R JeR-uwg fag mg &, fo=d & i foreht avg @ yrawra & ofik o S1Ea g1 39 ST
STER-HHE T 7T Fe

Ans o A WITH: TOWC
7 B.LOCK:CTLF
7 C.STOP: OYSK
7 D.KITE: TNKZ

Question ID : 1034359022
Status : Answered
Chosen Option : A

Q.20 IR A% fRu g &, fo=ad @ i foredft avg O varawr € iR Uah 31T7a 81 39 ST A hl
Tg B

Ans X A&

< B. S

o C. Sem aren a1
< D. ol

Question ID : 1034359021
Status : Marked For Review

Chosen Option: C

Q.21 Uk SharR & Affar 3mt & 199 =19 ur & 3R =z fia 4 2048 w17 uz g1 fPRArart, sit srftfar
3R A & s = d @, fi3 F 139 == R g1 afe dar em) @ 85 Tura ue @, at hae d
S @ IGRT AT T &2

Ans A 174l
X< B.18at
X C.16at
< D.19af

Question ID : 1034359031
Status : Not Answered
Chosen Option : --

Q.22 ui" fas A1 ur Gedia @ @ &1 fiehia 7atst & uff= 4 &, Afga fshia & fyor 4 &, gone
Afga & g 7 8, 57t o sraor & g # &1 gorre, fRiefia @ fopw R 7 @2

Ans X A IWgd
X B.gd
< C.afeyor
" D.afaurgd

Question ID : 1034359041
Status : Answered
Chosen Option : D




Q.23 3§ "t Fi ugar & Wt FEfafE@a sfgen @ weafda agi g1

Ans

17, 24, 32, 48, 91, 198, 403.
X A.198

& B.403
X C.48
% D.91

Question ID : 1034359036
Status : Answered
Chosen Option: B

Q.24 ue A ge T &, ‘LOCKET’ @1 ‘94’ & =0 & Heag farar sirar 81 3t wror &

Ans

‘EASTERN’ ot foh ueriR @ geag forar smogm?
X A.107

X B.109
X C.103

& D.104

Question ID : 1034359028
Status : Marked For Review
Chosen Option : A

Q.25 39 faened o1 9g o forad 2reg] & weg agl ey @ ot fag g g -giw & 21l & " gl

Ans

gfatdtes: gar i afa
X A BTSSR : IMéaT
o B. ficafie : oot
X C. wicHeR : e
X D. sreiie? : dhgH

Question ID : 1034359026
Status : Answered
Chosen Option : A




Q.26 Tek w2 far mar @ iR 36 a1 |, 11 3R 11 @ spwifera i errdanfai & mE &1 pua d & v
gt aral ot T qra gQ ag Frofa F for gend 1€ srfarfeat 7 @ o 6 srfafgat (@
& ey 7 srgadi/gur & forg forar s aren fAofa) arfde w0 & srgero & aia g
HY:
28R 1 Geh IST ATAT &T 3R Ugfd ghar oI @1 & Faifen & ga arel 9 a1at # dhery 311 @
2l
rdargl:
I. 7R fmm & sifemifval @) aret o grem o forg gram wfial @) g s arfgg arfes @t
3R HERT 7 ek hl

1. 3rfreprfeat &t Aret Y TwTd w=it fRT ik A & forg et s1e & forg S
T AT AR

. &t & 21 thehmt ATl UR AT @At ST @fEgl
Ans X A Had || SITERUTRIATE |
2 B. 1, 18R Il SIgeRuT R €1
X C. 18R 11 ST SgERUT AT & |
o D. Il 3R || S SIgROT & B

Question ID : 1034359033
Status : Marked For Review
Chosen Option : A

Q.27 = srpfaal & @rret & Qe gahs ol AS o1 3F 1R S gQ 17T ol h1e T adep erfar
T @1 Wi U ag RISt har fe@m?

o
Ans
XA ‘gg

ap
XB g%
o o
ap
& C IV
L] ]
x D QP
Iv
(&) [&]

Question ID : 1034359046
Status : Answered
Chosen Option: C




Q.28 TAY YA SHATH | T RITT Gga & forg vt st 81 ag ITR Fr 3k 65 m =l §,
3z fohR g 214 gt & 3R 30 m T=ie g1 fohr ag ardl ek gt @ 3k 45 m g« g1 39H
718, 98 14 gl @ 3l 20 m Tt &1 ag ofa & a1d gt @ 3z 10 m g=<dt @ oiiz ey
AT ugad 81 9y & sranard iR G & dw gan g@ fora-t 82

Ans X A.120m
« B.130m
X C.150m
X D.140m

Question ID : 1034359042

Status : Answered

Chosen Option : B

Q.29 fiu g faeeat & @ I snepfa @1 Tg= ffSig, st & 7 sj@en F usraras &g (?) & = O

BRI

LR

Ans

 D.

o o |

Question ID : 1034359044

Status : Answered

Chosen Option : A

Q.30 W' 1 Wit Heier'Afgs’ @ &, ag) "y w=gET AT ______ k|
Ans X A famg

o B.gaMI

X< C.forsm

< D. aiRAr

Question ID : 1034359025

Status : Answered

Chosen Option: C

Section : General Engineering




Q.1 e & 3T 9% o F7 37 (V) 57 THFW 9T R 57 9§
[en: V, = SArer F 819 & HIH I (m/s), h, = AT F T @R W & Fr B oededr
(J/ka),
h,= A & TR o aw i fBftee s (Jkg))

Ans XA V=V,+2(h,—h,)

sC V= qu2+2(h1—h2)

X0 V= Jlff +2000(h, — h,)

Question ID : 1034359074
Status : Answered
Chosen Option: C

Q2 FEf fireitex @1 forsares ons & gART f&@r = E
[T, = = Q@A arer Fem & W a9, T, = 399 99 Jef FoRd 57 9T O]
Ans T,
H

A ———

Question ID : 1034359071
Status : Answered
Chosen Option : A

Q.3 afy foreft puseht & 10 A A urzr vanfaa gt & siiz Fus 1 IR 80 mH &, at Fust &
fa Seif Y morET RfSgl

Ans A4
K B.2J
KX C.12J

X D.8J

Question ID : 1034359060
Status : Answered
Chosen Option : A




Q4 Which of the following is true?

Ans X A.
The percentage of carbon content in high carbon steel is always greater than 5%.

X B.

The percentage of carbon content in cast iron is less than the percentage of carbon content in mild steel.

xc
The percentage of carbon content in cast iron is always less than 0.1%.

« D. The symbol used for ‘Killed steel’ is ‘K.

Question ID : 1034359077
Status : Answered
Chosen Option: C

Q.5 Which of the following instruments is NOT used in chain surveying?
Ans X A.Plumbbob

< B. Arrow
" C. Trough compass
2% D. Ranging rod

Question ID : 1034359050
Status : Answered
Chosen Option : A

Q.6 fa=fafad d @ ot ot s ugfa d 5o wang i fE2m & fA3aR i et e ear=
aret aeftg=l (Bi STIueY-ufede ardt a9«) o1 Iuat forar sirar 82

Ans X A. 3= faf& (Basin method)
«# B. @1faent faf¥ (Furrow method)
5 C. Simett ame fafdr (wild flooding method)
#< D. i&swma fafdr (Sprinkler method)

Question ID : 1034359053
Status : Answered
Chosen Option : B




Q.7 Sr=fofm 3o o e Tu-giEa Yoo % T EEIed YU &7 Hefed F 8
quiTelr Fr Fefiaa & ar = 7 kW
U &7 Sfa’ §79E = 3.5 kW
o # ¥ o9 o Fyw 7T &7

Ans X A U &1 fosdrEs o 0.5 &l
X 5. QUTelr & fasarge aome 1.5 Bl
X C. QU & FE-EY ¥ FAT 9T #r 27 3.5 kW g

o D.

QUITSIT & 8T ¥ FSAT TiLTeT T 27 10.5 kW

Question ID : 1034359073
Status : Answered
Chosen Option : B

Q.8 200V, 2000 afe i IHew areht gar farega dAu i G+t @ ufatea 7 ffSq
Ans X A.400

X B.10Q
< C.500
& D.200

Question ID : 1034359058
Status : Answered
Chosen Option : B

Q.9 orEem=l (IRC) & SITHAR, ArHior A== & AA« | AfArapai hY <graw ais-g gt
______ gt =nfguql

Ans X A.1m
5 B.3.0m
" C.50m
X D.25m

Question ID : 1034359054
Status : Marked For Review
Chosen Option : B




Q.10 5 kg o7 & F=oAT F [BUT g 9T 400 kPa 3T 200°C 9T 9% I 1% b =ar & o9 g% &
mzso“cwaﬁamlwm#mm@mﬁmmmwm

[f&am & : 400 kPa 3T 200°C 9T =17 & fafise g = 0.55 mP/kg; 400 kPa 3T 250°C 9T &9
T Rfdre smgEa = 0.6 mjkg]

Ans XA 10 kJ
¥ 8. 100 kJ
xXc 1kJ
# D 1000 kJ

Question ID : 1034359070
Status : Not Answered
Chosen Option : --

Q.11 fa=fafaa d 9 w19 ot ard & g 'dide Ateft ey & fog arg & o gad @2
Ans X AT

< B. g HeR
o C. TR
X D. Fmfier

Question ID : 1034359049
Status : Answered
Chosen Option: C

Q.12 ox Ifirsre e R-12 & w7 & Ififefie & o1y v e arT-adiss Wi 9% W 1 ST
#R 10 TR H wefras a7 Towrfla =war &1 ofg semfeq waiesr 9 100 kJkg &, & 9efgs #r
FEUATA WAg &Y FAT g7 [AT #iferT, 1 TR = 3.5 kW]

Ans XA 0.7 kgls
v 8. 0.35 kg/s
xc 0.525 kg/s
x 0 0.247 kg/s

Question ID : 1034359072
Status : Not Answered
Chosen Option : --

Q.13 afy fareft nfaar sig Suwzur fir ot @ gl arzr I’ vanfza gt & &, af g o1 fagtgor
hIoT 318 @ fopach aTguTdt glar &2

Ans X AP
o B.I2
X cl
X D.VI

Question ID : 1034359063
Status : Not Answered
Chosen Option : --




Q.14 S & @ =i7 o 959 T8 87 [G = T&aT A1, K = 3TOad Toareyar AT, E = Wearear
A, v = ETE 3]

Ans > E =3K(1+2v)
v E=2G(1+v)
xc E=2G(1-2v)
X 0. E =9KG3K + 26)

Question ID : 1034359068
Status : Answered
Chosen Option : B

Q.15 Which of the following is the type of soil deposit formed due to transportation of soil
particles by wind?

Ans X A. Glacial soil
25 B. Marine soil
< C. Colluvial soil
" D. Aeolian soil

Question ID : 1034359051
Status : Answered
Chosen Option : D

Q.16 Qe gifeiez & 'a’ A1 0.75 g11 Uz I9h B & AT 6l M0THT &I
Ans A3

X B.4

X C.0.75

X D.0.25

Question ID : 1034359067
Status : Marked For Review
Chosen Option : A

Q.17 100V & RMS HT9 aTd 50 Hz tedST 913 ad hT THIR0T /T gim?
Ans X A.100sin 314t

" B.141.4 sin 314t
#5 C.50sin 100t
25 D.100 sin 50t

Question ID : 1034359062
Status : Answered
Chosen Option: C




Q.18 1 ohm & 171 ufadte veT ®U & [2 &1 AT TR A0 & forg udes 2@t o1 ufasiy
ferer=it grm?

Ans X A 15
& B.1/3
X c.3
X D.1

Question ID : 1034359059
Status : Answered
Chosen Option : B

Q.19 3mETs 10500 : 2012 (dawie fafadar) & ITHR, ST | Het i 519 yardf & wierd e
______ gt 81

Ans X A.1000 mg/I
« B. 500 mg/I
2 C. 1500 mg/I
2 D.750 mg/I

Question ID : 1034359055
Status : Answered
Chosen Option : A

Q.20 fereft omR-wer-&t (R-L-C) Aoft ufkau & sr3=1g ft fRAfa &, st qoras ______ gl
Ans X A.0.5 smradf

< B. 0.5 gggadt

o C. Qo

X D.0

Question ID : 1034359061
Status : Answered
Chosen Option : B

Q.21 g80°C =¥ s 37er 0.9 =rer s $r fafiez wrded Fr gete (B & 80°C W Tga B W #r
fafirse e = 335 kJ/kg; 80°C WX =¥ & arsdreRor dr Rifise vededt = 2300 klikg)

Ans X A 2635 kJ/kg
v 8 2405 kJ/kg
X c 23715 kl/kg
x 0. 2070 kJ/kg

Question ID : 1034359069
Status : Not Answered
Chosen Option : --




Q.22 39 FHUT & Ueh1R it ugar & forad gl wearge gidt &1
Ans o A Fcd & IR S Hifeat (Dog legged staircase)

< B. g gu Hifgat (Open well staircase)
< C. umudt difeat (One way staircase)
2< D. gsfora Hifeat (Helical staircase)

Question ID : 1034359057
Status : Answered
Chosen Option : B

Q.23 400 m % &= (TN F T84 FH T THT 6 MW Fr oTre afed 3sfag == & W o 90
e B TR g 1 i F ATA T T g 2mYs ¥ e e Fr THT gar w7 gri?
[ %7 g9=ied = 1000 kg/m?®, T &=7or = 10 m/s?]

Ans @A T75%
X B. 70%
X C. 85%
X D. 80%

Question ID : 1034359076
Status : Answered
Chosen Option : B

Q.24 T Ty w1d hifSgl
Ans X A T Mol h3d h = 1/ (A1 &fdsT hee i<k * aRkad 7oTich)

o B. AT Tl hae Qfeh = "ied ST shse ik * gRerd qotieh
< C. uRad= 1uries = Aren &fast hae fh * Ared Mefta hsa Afh
#< D. A1 Tt dhsd A1fxh = Aren dfast dhse 2tk / aRad ot

Question ID : 1034359066
Status : Answered
Chosen Option : D

Q.25 % ggrdf & 1o & Yy # fAmfaf@a wual ur foar &R ok ag SR o1 949 &R
HYT A: aTIHT | gig & ary A Y sar=iar w gt Sndt 81
@Y B: 19 &1 FiE fAfa smaa=t adl giar & ok g uepfa d ddfisa gt &1

Ans X A FYTASRBCH TEI g
" B.FUIB WG g SR FYTA T 8
X C.whuTA RB g T &
< D.HUTA T g SR FYTB T 8

Question ID : 1034359052
Status : Answered
Chosen Option : B




9 P A T FT A wuT T

Ans

X A
‘[EMTIeh ;AT H AT L T 2 & ganr & el &

X8 1.0 9= 100.0 N-s/m?

XC 1.0 = 0.1 mls
« D.

‘&aTfes eTTear @ famr L2 7 71 &% gawr & = §

Question ID : 1034359075
Status : Answered
Chosen Option: C

Q.27

i+t (DC) 2i Aez fi guf wts nfa & o1fdew nfer wrw @t & forg, fA=fofla 4 @ o &t
fafa ot 22

Ans X A. TR &I G
o B. hicg i gem T
75 C. g Fie T
< D. 3R e To™T
Question ID : 1034359064
Status : Answered
Chosen Option : A
Q.28 ______ # &olft oft 1p.u 1 WIR 7UTER (s Thaer) A8 g Tehdar 1
Ans X A Sefdga gas
#< B. 3R &l W7
o C. T I8 997
X D. TR Foif da=
Question ID : 1034359065
Status : Not Answered
Chosen Option : --
Q.29 3TEgH (IS) affeor & srgaR fFA=fef@a & @ w=-a1 Hide o 3= adi 82

Ans

< A. 9IgRY qiédE @e (OPC) 53
< B. 91uRuI qiéaE die (OPC) 43
& C. GuRuITEdE @ (OPC) 23
Z< D. greRurgiées diEe (OPC) 33

Question ID : 1034359056
Status : Answered
Chosen Option: C




Q.30 Which of the following types of rocks exhibits greatest crushing strength when
compared to the other mentioned type of rocks?

Ans X A. Shale
< B. Sandstone
< C. Laterite

" D.Trap

Question ID : 1034359048
Status : Answered
Chosen Option : D

Section : Domain Knowledge

Q1 Identify the type of fluid indicated by X from the given figure.

-

— Yield slms—>| Shear stress 1, N-"m= —»

Velocity gradient -5?:- ¥

Ans X A. Newtonian fluid
25 B. Thixotropic fluid
4" C. Pseudo Plastic fluid
25 D. Ideal plastic fluid

Question ID : 1034359122
Status : Answered
Chosen Option : A

Q.2 When the rocks are classified on the basis of physical characteristics, the type of
rocks that has atendency to split up in a definite direction only is known as:

Ans  # A foliated rocks
#< B.igneous rocks
25 C. calcareous rocks

25 D. siliceous rocks

Question ID : 1034359078
Status : Marked For Review
Chosen Option : A




Q.3 fa=fafaa wr ok erera foreht @ s ot uefala @=ar & it 80 cm =il itk 60 cm Tgd 81
ahe; @ fafdy @1 Iuatn s @ & forg Ad-wrd i srasam A ______ gl

fk////;;,f AT T

'EA\-"? 30cm A '/ 60cm

4m / g fl
PLAN /

Section A-A
/ (A=) Py
b W7 . &
< 6m \

Ans X A 6.54m°
X B.10.5m8
& C.8.064m°
7 D.9.68 m3

Question ID : 1034359094
Status : Answered
Chosen Option: C

Q.4 fa=fafEa § & o fard & erv d adf smar @2
Ans X A =TS 783 & fhaR Iuerets QG (RAeror ARl & Hiew § UR 61 giauwd Jioid &

X B. @@ 3T H iy
o C. IRTR Ga1E &3 33 8fR 70 STararg giord sz
2< D. =g emyfef & forg IuTi it ST ateft 18t g # oide 2 AuRag= ue™ we

Question ID : 1034359128
Status : Marked For Review
Chosen Option: C

Q.5 QTSI & SUAR # v g1 are seftf=ivn urasr &1 aanafaes a9 o ar @2
Ans X A URRTH qegHiaE dethe

& B. &fRw sEe

" C. BRI gEUTIRET

< D. SEFIRMHA

Question ID : 1034359154
Status : Marked For Review
Chosen Option: C




Q.6 3= # ugfaiq, 181 AB U, B =itsrd 3iiz D eI aret Uah Simad o1 wisd omegyf FA=faf@a d @

Ans

fora g1 = 2rfaT srem?
= B
-“L —
DB?
A e
B ] B_DE
4B — 4
DB?
XC .=
AR 3
BD?
25 D Foprenit

Question ID : 1034359183

Status : Answered

Chosen Option: D

Q.7 1S 800-2007 ZI=1 S11Rifa atee a1 frdks swaer & forg Afim ar fY 9w drerd fora+t

Ans

gidft 87

« A U3 dice a1 Rde & sifafgd e &t = )

#< B.Us gl (end bolt) a1 Rde & sifafgd e & srreR|
X C.usdie a1 Rde & siffRd o & g

< D. Uz aice a1 Rae & sifafed = &Y IR T

Question ID : 1034359179

Status : Answered

Chosen Option: C

Q.8 fa=fafEa d @ 9dl wu &1 wa= fifSig:
1. @fast e fagas At & smea grr ure forar e g1
2. g T TR A aTell Ah) & WoTeh T & ZIT UTd feRar sirar 1

Ans

o AT YT I
X B3y sRA B |

X C.hu1 3 g 3R 2 g 1

< D.%hYT1 gI§ 3R 2 A g

Question ID : 1034359084

Status : Answered

Chosen Option : A




Q.9 Contour lines of different elevations can intersect only in the case of:

Ans o A. overhanging cliff
75 B. steep slope

< C.valley

< D.ridge

Question ID : 1034359102
Status : Answered
Chosen Option : A

Q.10 3 m dteT 3R 4 m ST Qeh HHIA AT 1.5 m AT E2ars fE@rar mar g1 €ar 250 mm
#1& @1 25 mm Aierd ardt snaad $U-Yoh I 1 Sahed ______ H

7
F<—4 m 7
I3m| -
A
wall
D / (Eram)
Door
(G¥ara)
Ans X A 12m?
& B.3.375m?
2 C.034m?
X D.6m?

Question ID : 1034359089
Status : Answered
Chosen Option : B

Q.11 fEHRTHU & TR U FhS! &l i e & forg 600 x 50 x 50 mm IHTRIR aTet GAETOT-
a1 o foredt faRte wwamaf & forg yfa & sadt sneft dard & mrs fyar sman g, sz fafe=
Taiaad! g A f AT Tie Hir st @, ok 39S sitda sfraaarrer i wworar i st g1
I feahTS: gl & ¥ d diffepd e & forg, SHeT oiid SiiaaTad e ST ______ g

afggl
Ans  # A 120 ATg 3R 399 31fdem
/< B.30TE ¥ &Y
< C. 120 918 ¥ &7 AfchT 60 AT IT ITY 3fdeh

< D. 30 5TE @ 31fdh 3R 60 AE I FHH

Question ID : 1034359081
Status : Answered
Chosen Option : A




Q.12 R frwar areft arq Y g g 2fte 7 r Broat aren g B g9t mr g1 A 9 fie & 2w
STaifehd @wd T dheah T 82

Ans

Question ID : 1034359166
Status : Answered
Chosen Option: D

Q.13 Which of the following methods is NOT used for calculating quantities of materials in
building e stimation?

Ans X A.Long and short wall method
< B. Crossing method
#< C. Centre line method
«# D. Straight line method

Question ID : 1034359090
Status : Answered
Chosen Option : D

Q14 ______ AT & uia & aTagTies SITHANT & Yeh IETER0T &1
Ans X A. AT HIZY

X B. FAWR e HT U9

o C.ele &
< D. #eR

Question ID : 1034359124
Status : Marked For Review
Chosen Option : D




Q.15 Match the following tests conducted on sub-grade of highway with their types.

Test Type
1. Shear test A. California bearing
ratio test
2. Bearing test B. Triaxial

compression test

3. Penetration test C. Plate bearing test

Ans X A.1-C, 2-B, 3-A
< B.1-A, 2B, 3-C
& C.1-B,2C, 3A
< D.1-B, 2-A, 3C

Question ID : 1034359146
Status : Answered
Chosen Option : D

Q.16 famfafaa 2er faneft foig A & forg wasiawor @ ura fare 1o 3, St ga 991 g1 & forg
gorma:
daureh 1 IFUT = 210.852 m
e Arge (Egf®) = 2.324 m
IR H15E (317gf®) = 1.836 m
feig B o1 3=a= fopa=T 82

Ans X A.213.176m
X B.212.688m
o C.211.340m
25 D.208.528 m

Question ID : 1034359105
Status : Answered
Chosen Option: C

Q.17 188 =19 4 m iR eriaf¥es arw 2 m areft 20 m F=h @@sf, gefta Rwh & sz uz usaer
ufaae &1 Prafzor fifdg) ag REeh 1kN/m? dear arat dfas arg-ara & ord= 2, ok R
& wreht @t fRAFATE wR 20 kKN/mS3 @1

Ans X' A 350 kN/m?
& B. 400 kN/m?
< C. 300 kN/m?
7< D. 250 kN/m?2

Question ID : 1034359167
Status : Marked For Review
Chosen Option : B




Q.18 Siete Age &t fasmsa &, afe mre &1 i &or smaTg (mm 3a&1E F) m, 8, 9t aft & weftawor
Z1I1 Tnfore fiee thaeaf______ 2l

Ane XA 0.76,m,
v 5 1.76,/m,
xc 1.76m2
X 0. 2.76,/m,

Question ID : 1034359134
Status : Marked For Review
Chosen Option: B

Q.19 af¥ foreft 78X &t 60 FgAF (cumec) arat sifdran vare & forg fesme= forar mar &t dfer=
IHhT IHY WaTg 50 FgAeE (Cumec) &, Y I AgI T eniRar qore ______ gl

Ans X A.1.20
7 B.0.64
X C.058
o D.0.83

Question ID : 1034359130
Status : Answered
Chosen Option : D

Q.20 When the sanctioned estimate exceeds by 5% either due to the rates being found
insufficient or due to some other reasons, afresh estimate is prepared which is
called:

Ans X A.supplementary estimate
" B.revised estimate
25 C. detailed estimate

25 D. plinth area estimate

Question ID : 1034359088
Status : Answered
Chosen Option : A

Q.21 T fereft Y@ a1 v=eaT S1iR Sreqiar shasr: +78.0 m 3R —135.1 m g, at @7 &1 qof g safar
______ 8l

Question ID : 1034359100
Status : Answered
Chosen Option: C




Q.22 IS 4954-1968 & HTHR, foreht v ;a1 F forg AT §elR R awT &R ______ gargl
Ans X A.30¥35dBdw

«" B.35340dB d®
< C.453950dBd®
< D.25¥30dB d®

Question ID : 1034359151
Status : Marked For Review
Chosen Option : B

Q.23 fam=faf@a d @ F1=-91 U FoAyd arg ugys 8?
Ans X A BiASERES

X B. gergRa vfis

< C. 3

o D. Biga OHIES

Question ID : 1034359152
Status : Answered
Chosen Option : D

Q.24 =g sifmifaeht # fgafRadt aiu sz dwst (weir and barrage) & sftwr et o1 &t g1

Ans X A ReaRedT sty & gaen # skre, 7€t & afgatg & ary-ary 3519 (it ) wge d femror d
R T geA H §1

" B. RauRadl sty & Siam @ wu ¥ 7t gRT1 [ fohar ST 8, Siafh SRieT # STelld &1
g a1 Shihie 3NaRueA! Sie gRT fohar STaT 81

X C. RrguRadt sty o1 iR vep 1S a1 dhchie aTeft Txar gt @ Stafch avrer # AR shehle
g gar &1

< D. RguRadt sty yar Tefgd Ga gidt & STafeh Tar aket § Fefer forde e i giad €1

Question ID : 1034359132
Status : Answered
Chosen Option : B

Q.25 i 3ifdwa | (spillway) &t @dg &l tht wifer arez Se i fA=et a8 (nappe) & TRk &
U gAed & fog gt mar gl at s ______ & =Y & ST 74T 81

Ans X A. e f&erd
< B. g f&ed
o C. 3iiSh ferd
2 D. gfu f&erd

Question ID : 1034359136
Status : Answered
Chosen Option: C




Q.26 Match the following elastic constants with their definitions.

Elastic constants Definitions
1. Young's modulus of A Shear stress
elasticity Shear strain
2. Modulus of rigidity B Volumerric stress
" Volumetric strain
3. Bulk modulus C. Lateral strain
Longitudinal strain
4, Poisson’s ratio D. Compressive stress
Compressive strain

Ans X A 1D, 2C, 3B, 4-A
& B.1D, 2-A, 3B, 4C
X C.1-B,2-A, 3D, 4C
< D.1-D, 2-B, 3-A, 4C

Question ID : 1034359165
Status : Answered
Chosen Option : B

Q.27 The upper plate of the levelling screws in the Dumpy levelis called the
Ans X A. tripod

< B. trivet

#< C.levelling head
" D. tribrach

Question ID : 1034359099
Status : Answered
Chosen Option : D

Q.28 g m3 amaa+ ok 4kN IR aTat g a1 fafdre s o 82
Ans X A2 kN/m®

X B.1kN/m3

X C.2.5kN/m?3

& D.0.5kN/m?

Question ID : 1034359118
Status : Answered
Chosen Option: D




Q.29 Match the following speeds with their definitions.

Speed Definition

1. Spot speed A. The average speed

maintained by a vehicle over
a particular stretch of a road

2. Running speed B.

The effective speed with
which a vehicle traverses a
particular route between two

terminals

3. Overall speed C.

The average speed of a
vehicle in a certain road
length at any time

4. Space-mean speed D.

The instantaneous speed of a
vehicle at a specified

location or section

Ans X A.1-D, 2-C,3-B, 4-A
& B.1D, 2-A 3-B ,4C
< C.1-B, 2-A, 3-C, 4D
% D.1C, 2-A, 3-B, 4D

Question ID : 1034359145
Status : Answered
Chosen Option : A

Q.30 1 Rt T o1 Gen FRRT fRAR &1 3= gumr R <k g1, &t srr<herrdt st P ot ativteh 7T @7
E- T T UATRYAT ATTih, |- ST Smyof, |- & & dars g1

Ans _T[Z EI
A
412
2m2El
12
2 EIl
812
2 El
. B

X B.

Question ID : 1034359163
Status : Answered
Chosen Option: C




Ans

25 A. degree of consolidation
25 B. percentage of air voids
4" C. degree of saturation

25 D. degree of compaction

Q.31 In asoil sample, the ratio of the volume of water to the volume of voids is known as:

Question ID : 1034359109
Status : Answered
Chosen Option: C

Ans

Q.32 UT%hd ot fraw aarar g foh:

o A %3 & farmraen § ot fig R g &Y dfiaar a=ft ket & a1 gicht 8
& B. R ¥ Ry e fig R a1 S5 fRR g1 8

< C. fUs &1 R fAenfd ga & Sya- & aRER AT g

< D. @R H [t oy 7 fofig R e arel fRR gIaT 81

Question ID : 1034359119
Status : Answered
Chosen Option : A

permeability of soil?

Q.33 Which of the following is NOT an empirical method for determining the coefficient of

Ans

Y 1. 3= AT9AETAT R IuARE (cure d) fre 71T dighie @ sk ggar &w gidt &1
HYT 2. IYFROT/RFAT (Curing) Teh Tt ufshat & St sTeratsr &t e g1t 81

XA FUT] TEIE IR FYUT2 AT 8
X B.ai s adl g
o C.HYT1Td & SIRFUT2 TET 8
X D. 3 HYF AT &

Ans  # A. Cooper Jacob's formula

< B. Allen Hazen's formula

2% C. Louden’s formula

< D. Jacky’s formula

Question ID : 1034359113
Status : Marked For Review
Chosen Option : D

Q.34 fa=faf@a Fut 9 & 9 fawea g1

Question ID : 1034359174
Status : Answered
Chosen Option: C




Q.35 fa=faf@a segpfa | wefva frame Rg & g fifsa

Ans X A T &

« B. TRy gETT
< C. Arurfh

25 D. <terd A

Question ID : 1034359140
Status : Answered
Chosen Option: C

Q.36 famfafaa & @ wifas wu @ srfafya fiw i ugara Hfeal
Ans

X A

xBA
- y

& 1

Question ID : 1034359159
Status : Answered
Chosen Option: C

Q.37 fA=faf@adad______ &l Siga AT G TRUT chshle & eraurd | &t A & g &1
Ans o A FRER U e

/X B.Ticehl BT UM T

Z< C. AmuHE A §AIY &

75 D. SRf¥® 3= srauTa

Question ID : 1034359173
Status : Answered
Chosen Option : D




Q.38 fam=fafia 7 @ forw qar ffevor vorreht & &1 >t 9= wEl | witpa forar mar 82
Ans o A TOUCH SWICYE Silth SIS IR Ul

2< B. QehIpd FaT aifienor

X C. am=it (AAST HO) afferor

#< D.Efeam < =g Fiffenzur

Question ID : 1034359111
Status : Marked For Review
Chosen Option : B

Q.39 fa=faf@a syt & @ srudd) yul @ Gefda gt faesea o =g fifegl
1. afe I=a Srat=aar fasfaa forar s @, af srder Soft s d s sird @)
2. 9} ar A ga & faasta & forg srder, gaT=iaR Ha d S o1 @1

Ans X A TH HYT aG@ &
< B.&uT1 Ta g 3R 2 s gl
X C.hruT2Tgg 3R 1 s gl
o D. T FUTEA I

Question ID : 1034359123
Status : Answered
Chosen Option : D

Q.40 waré L a1t Ueh dhételiar dfiw a1 fagtoor, g siRurgam faig s ______ ag- fopg gtar &, sTat
E, T T UdTRYUAT ATUIh § 31X | STee Smyguf g1

Ans qA.WLEF-ﬁ?]'Eﬁ'aﬂ'{

3EI

PR R it g g

8EI

PO iy g

8EI

> o S0RY B At

6EI

Question ID : 1034359161
Status : Marked For Review
Chosen Option : A

Q.41 fam=fafae 7 @ o= o fafYy, dufa & o= gt gea o1 e & & forg Suatf f&afy ad
8?7
Ans X A. fomr fafe
o B. e fAfy
X C. ot e fafy
#< D. g fafar

Question ID : 1034359097
Status : Answered
Chosen Option: D




Q.42 fa=faf@a 7 @ ey W IS dfgar saara frafor ek fesmea & forg g fEar-fHEar ue=
el 87

Ans o A.1S800-2007
7 B.1S1077-1992
2 C.1S10500-2012
7< D. IS 456-2000

Question ID : 1034359178
Status : Marked For Review
Chosen Option : A

Q.43 IS 456-2000 & JJHR T i sia:Turfud forg faar sehie g9 & forg Suai forg s+t arst
ST | Sufea aefiigs frergRa e ______ gl

Ans X A.500 mg/I
2< B. 1000 mg/I
2< C. 200 mg/I
# D.2000 mg/I

Question ID : 1034359169
Status : Marked For Review
Chosen Option : D

Q.44 de & famfafaa gewl &t IgTgw0r afga gafaa fifsm

9T & UeH 3ETEI0T
1.39 A. ifEs e
2. Afgeper B. ferefmmr
3. e C. 9r=T &
4. 31T D. forem=r

Ans X A.1-C;2-D;3-B;4-A
< B.1-B;2-A;3-C;4-D
o C.1-C;2-A;3-B;4-D
& D.1-D; 2-A; 3-B; 4-C

Question ID : 1034359087
Status : Answered
Chosen Option : B




Q.45 Which of the following is a characteristic of rapid sand filters in drinking water
treatment?

Ans X A.The effective size of fine sand of 0.2 to 0.35 mm with uniformity coefficient of 2 to
2.75

#5< B. Requiring large area
#< C. Highly efficient in removing bacteria

" D. Backwashing by water and compressed air for cleaning

Question ID : 1034359157
Status : Answered
Chosen Option : D

Q.46 arg uewor 7, it ww ford defa wwar g2
Ans o A TERR AATAT arer SR Sifd-SGISH aTaTaRoT § ST aTel WA Y, St SaaH SRR grdrarer
GeT HaT g

#$ B. 5d T ISHAUT & HUR Yo Holgd S1fa-TgIcH e & Hig[g gt &1l

X C.5a &1E IShAUT IR, R & i @ NS T i gt ofk R & 2 aifa-vgrent faafast eara
gl

2< D. Iu-TgrsH uRFRARTT # g1 arel T8 & Y, STt ATel! ®9 & fRR arama=or 0e7 &zar 8

Question ID : 1034359156
Status : Answered
Chosen Option : A

Q.47 Select the disadvantage of plane table surveying?
Ans X A ltis most suitable for small scale maps.

< B. Itis useful in magnetic area.
4" C.Itis essentially a tropical instrument.

#< D. The surveyor can compare plotted work with the actual features of the area.

Question ID : 1034359106
Status : Answered
Chosen Option: C

Q.48 wdarur | gt A1 & ki FEfaf@a § @ i a1 gur ghn AT Ear 8?
Ans o A laaT

X B. &ama

X C. e e

25 D. aga=

Question ID : 1034359098
Status : Answered
Chosen Option : A




Q.49 3379 Itz FHT & AR Aegad] argd uY (Fewifage Hive 3) 6 9rsrs fora= gidt &2
Ans X A.7.0m

X B.75m

X C.375m

o« D.55m

Question ID : 1034359138
Status : Answered
Chosen Option : D

Q.50 Which of the following is correct regarding autogenous healing of concrete?
Ans X A.lt cannot take place in continuous saturation.

" B.Itis a natural process of crack repair occurring in the presence of moisture.
< C.ltis particularly effective in cycles of drying and reimmersion.

5 D. Itis an artificial process of crack repair occurring applying water.

Question ID : 1034359177
Status : Answered
Chosen Option: B

Q.51 4.5 m as faqa uiw g = (props to slab) & forg fReftim srafey fora= gt &2
Ans o A 7T

X B.14R7
X C.21R7
X D.3fga

Question ID : 1034359171
Status : Answered
Chosen Option : A

Q.52 areR a1dE AheH (WBM) a1t & ga-39 " & forg ferast arfderay @t deiew sroador a9
I STeva gt &7

Ans X A.50
X B.40
& C. 60
X D.15

Question ID : 1034359147
Status : Answered
Chosen Option: C




Ans

« A PET SR
#< B.aa shife

< C. 3l seeaeH
4 D. gwR AT

Q.53 fa=fafia 7 @ forw wia-33s ord 7 918 @1 HFL 98k & a1 @ vafw & @ 13 glar g, aife
Steafaareht o1 urt EETRyur & aga Wad U @ varfga g ah?

Question ID : 1034359137
Status : Answered
Chosen Option : D

Ans

< A.500 mg/I
< B. 250 mg/I
2< C.2000 mg/!
" D.1000 mg/I

Q.54 1S 10500-2012 & HTHR, Ahfcdeh Hid & U | GISTA A Feiivrgs dl Hfdman srgaa
@\ ______ gt 81

Question ID : 1034359148
Status : Answered
Chosen Option : A

Ans

& A. 1540
X B.1525
2< C.1583
2 D.1425

Q.55 #Ts 51 T UIM + 7 & TuR g a1t 1 freifie ued & forg fopaa whtad i smasgar
gt 82 aifs 71 uedt &Y A1 &ars = 13 m #ifSgl

Question ID : 1034359144
Status : Answered
Chosen Option : A

Q.56
Ans

FHURI gEdei Al ______
X A fgda o i de
< B.uan &t Frde
o C. g gl it e
X D. =g of 1 e

& w0 | ffepa fomam siaT 81

Question ID : 1034359080
Status : Answered
Chosen Option: C




Ans

Q.57 S1ged &R & = & aiffes aera St 1A 91 U FARSY & HIATA S AT USRI i g,
hgl SITdT 2l

«" A 3% (checks)

Z< B. Rgma (rindgalls)
X C. 3y (upsets)
< D.7its (knots)

Question ID : 1034359085
Status : Answered
Chosen Option : B

Ans

Q.58 fa=fef@a d @ wi=-41, dhehie 7 wyh sifafAsmor o1 wrd 81 82

X A geTddT &t S
X B. &dhie & RaATEHTT &l agmT
25 C. STeAiT & Rl hch Thshie chl TTH TG

o D. BTSSR T IHT &l Fg™

Question ID : 1034359172
Status : Answered
Chosen Option: D

Ans

Q.59 fa=faf@a 9 @ o= a1 aufarues @3 auf 6 daar v 98 war a2

o A TETA RIS
< B.Rfinsgde A
< C.agnThe |
< D. Tte T8y [ i

Question ID : 1034359131
Status : Answered
Chosen Option : A

Ans

4dg_
Tha
Do,
4y
Do,

Thd

X A

' B

xc

 D.

Q.60 ufagasardLy______ & g1 & st 8, S1ef ¢ = &3 @ sifafea e, o = fasng |z o
A1 Y HTUTT a1t &2 F ufaad, ofiR 1,4= fasns smsiv ufaas &1

Question ID : 1034359185
Status : Marked For Review
Chosen Option : A




Q.61 Weh 50 mm x 8 mm areT T e1$ I1R 80 kN AT MR 98+ &3 & forg &1 satrerrer & 250
mm? & ATIEY-hTE & Bhel & FAT YOTawT a1t LYl & A7 1 gderor famar mar uni 993
11 g fomar war siflrera 911R 125 kN AT1 YRET T[UTeR T 87

Ans X A.20
X B.15
o C.2.5
X D.0.4

Question ID : 1034359182
Status : Answered
Chosen Option: C

Q.62 Hartfa vfaer e &, ford geawm ik gqs & Wi 31u a1 Sugl forar sirar 82
Ans X A.4.25Kkg 3R 425 mm

#< B.3.85kg 3R 350 mm
" C.4.90 kg 3R 450 mm
25 D.2.60 kg 3R 310 mm

Question ID : 1034359116
Status : Answered
Chosen Option : B

Q.63 Qe 3781 AB & ufe: eard D aret s1efge & STs smquf &t ______ I ugA fora siar @1

o B
D

Ans T[D'4
V" e =108

nD*
Y

nD*

¢ las = 5ep

nD*

X D. IAB e

Question ID : 1034359160
Status : Answered
Chosen Option : A




Q.64 Qe g Hiex shshie fAsior (1: 2 : 4) & forg smasaes Wde s afkmmor ______ gi=r anfgal
Ans X' A 025m°

2 B.0.15m3

2 c.019md

o D.0.22m3

Question ID : 1034359096
Status : Answered
Chosen Option : D

Q.65 Air entrainmentin concrete increases its
Ans X A. permeability

«# B. workability

< C.segregation
#5 D. strength

Question ID : 1034359176
Status : Answered
Chosen Option: B

Q.66 Which of the following assumptions is NOT applicable in Rankine’s theory of earth
pressure?

Ans X A.The failure of the retained material takes place along a plane known as rupture
plane.

#5 B. The earth or soil retained by a retaining wall is cohesionless.
" C. The earth or soil retained by a retaining wall is cohesive.

< D. The frictional resistance between the retaining wall and the retained material is
neglected.

Question ID : 1034359164
Status : Answered
Chosen Option: C

Q.67 Fineness of Portland cement is tested by which method?
Ans X A.Autoclave method

4" B. Blaine's air permeability
< C.Vicat apparatus
5 D. Le Chatelier apparatus

Question ID : 1034359083
Status : Answered
Chosen Option : B




Q.68 Which of the following is defined as the volume occupied in millilitre by 1 gram of
solids in the mixed liquor after settling for 30 minutes?

Ans & A.Sludge volume index
< B. Volumetric BOD loading
2< C. Sludge recycle
#< D. Rate of return sludge

Question ID : 1034359153
Status : Marked For Review
Chosen Option : A

Q.69 famfafEa # @ forg ek & fiw & dhgr-va=R (contra flexure) faig gtar 82

Ans W kN'm
X A
L -
- -L -
- - [ ——— | —-— " ——
] wi
B. |
" A . B
- w/m
xc
L
wy N/m
@D 1 | 22X |
i._ A '
1.2m=» 3m te- 1.2 m==

Question ID : 1034359158
Status : Answered
Chosen Option : D

Q.70 <ieh T=rfka e & 7T 160-mm 1Y a1t Teh 319 ATHE ht1 IUAT fopar mar g1 afg arae &
forg Ofa srflreras srawsgor ufdrarst 50 N/mm? g, at errae g1 dafa sifleras awmegof s
8?7

Ans X A.10.41tkN-m
o B.12.8nkN-m
X C.13.9kN-m
2 D.11.2kN-m

Question ID : 1034359162
Status : Answered
Chosen Option : B




Q.71 fam=fafaa ==t § @ 3@ FR &1 9gv g, St FRufere & 319 w3 & uhrR 7 A1fae gl
Ans X A @t

«” B. Tl & f&elh

X C.ag

X D.E

Question ID : 1034359150
Status : Answered
Chosen Option: C

Q.72 ufye SeigaR | f@pfindsd ______ & fag gar &1
Ans o A STORIE ST A Hig dof ofR M &t gem

#< B. 7% ur # Hisle Snfdetdr ¥ A
25 C. SufRrE Se Y T ofR TT R 3
2< D. 3ufE Siet # Hivlg HEH Iqeh UT SIeRT ther

Question ID : 1034359155
Status : Answered
Chosen Option : A

Q.73 IS "MYUT @ e Tt a2 &1 9= RSl

Ans o A IS TG SITAT 8|
#< B. afa1 A0 H ug<h 3 & a16 s 3R e &t s g |
< C.gfzd ok erg g T vgit ae STt 8 |
25 D. woreet, R um ofk axmagiRenar ag STt 81

Question ID : 1034359082
Status : Answered
Chosen Option : A

Q.74 ______ Y Trdeif=e gigerstt & urd mEs A9 & AT v foRar sar g, arfes aree args uy
& 9T gl ST & forg $a6 9|

Ans X A uRaeH 9y (Drive ways)
X B.sTd (Bus bay)
«# C.< 13 (Lay byes)
< D. Tt &= (Parking lanes)

Question ID : 1034359139
Status : Marked For Review
Chosen Option: C




Q.75 #Afear Rt fad 20% sndaiar ok fafre 1w 2.5 @ @q@ 81 afy sad @qfta @ afara
70% g, at Rfvr srqura ______ ghmi

Ans X A.068
X B.0.76
X C.0.82
o D.0.71

Question ID : 1034359112
Status : Answered
Chosen Option : D

Q.76 feRet Tega <shn o sfiafve ol Tt ______ BT &, STl n <ehw il YaIrsii & ST gl
Ans XA (n+4)x 90°

< B.(2n+4)x 90°

" C.(2n - 4)x 90°

X D. (n - 4)x 90°

Question ID : 1034359103
Status : Answered
Chosen Option: C

Q.77 o1 ATHTY sie ash & fAm=fef@ s wiw fRg Mg &: D1 =0.2mm, D3¢=0.5mm,
Dgo=1.5mm, IeheT T uTich ATd HIfAGI

Ans X A.3.0

X B.75
o C.083

X D.2.5

Question ID : 1034359115
Status : Answered
Chosen Option: C

Q.78 L «iaTE aret &l i hY ag warelt wiars, Sit St AR u? wanet &1 4 srafeya &Y St @ e
T R uz qufa & feg sradifRa ot @, ______ 8l

Ans X A.1.5L
& B.0.80L
X c.1.0L
X D.0.65L

Question ID : 1034359180
Status : Answered
Chosen Option : D




Q.79 afE N + 6 & wHU o@ a1t ARt & WA & U FIE #i's o1 2o fasrar mn g, 9t ThuR
&Y gd 68.4 cm ghtft1 afy Whurfr Az 254 cm g, ARG RN R mgad______ ghth

Ans A 21.5cm
5 B.47.0cm
25 C.36.5cm
25 D.29.5cm

Question ID : 1034359141
Status : Answered
Chosen Option : D

Q.80 rerRT ARTST ufatsr=T Wika <t v f¥and ufais=rs # @ g @, rwanr fAamfor ______ adr
TR ______ T4 | fopar mar g1

Ans X A mgreY ofk aifderm
< B. 7seh 3R fagR
< C. gaqst 3R o mear
o D. T iR ufgm e

Question ID : 1034359129
Status : Answered
Chosen Option: D

Q.81 The minimum grade of concrete used for moderate exposure condition of plain
cement concrete as per IS 456-2000 is:

Ans X A.M20
o B.M15
7 C.M30
X D.M25

Question ID : 1034359184
Status : Answered
Chosen Option : A

Q.82 fAm=faf@a sy gantt ok fzmmff RCC Wa @ Heifda &1 wdh fawea g1
FHUF 1: TRATH gorrelt &, w1 gy & fAafores, wror skt ST Fa1d & haer daaa @uraiaika
& Y eTHAT & AT WYL gyl Y gHTiaR ufthal & wu 7 gegar g &
& 2: fganft ot A, waf @t ufa=ddt sragat & g w11 S Gonat @ fowd v widl &
Teh rgqad gra1 ufate farar sar &1

Ans X A GHI HUFTTEA 8
/< B.&UT1 T & IR FYUT2 AT 8
o C.HYT1Td & IR T2 TET 8
X D.a i huTTEI g

Question ID : 1034359186
Status : Answered
Chosen Option: D




Q.83 =19 (D) aret forft gt gy & forg gragifera fHsar (m) &t ______ @ ==k fopra sTTar g1

Ans

D

r N i)
e

D

x B,
-~
XCm=D

v 0 S

Question ID : 1034359120
Status : Answered
Chosen Option: B

Q.84 F eftaR e T IUANT______ fruffya <t & forar saT 81
Ans X A € ¥ a1 6T ddie amed

X B. &FdgRiaIeE

2< C. ygiRIer # 7aT &7 SRy e

" D. ©d # Aftar e+t g &Y srowgur ared

Question ID : 1034359114
Status : Answered
Chosen Option : D

Q.85 TR gshl il ITTT Ft af¥gar o1 gy o & forg fAm=fafla 7 @ forg 3 (checks)
oY vy feRaT ST @2

Ans X A sifaH fig 39 uaR fRd g1 [ 9 ufa=se ivr @ A1oel § Wds ¥ 9 dg aeh foig & duTet
il
Z< B. sifaw fig 39 uaR R g1 o ag weisan fofg @ AuHl § Wds &4 ¥ akg ash fag o duTd ghl
< C. sifon fig 39 v R &1 6 a5 wusfsan feig & #1oei @ Wds w0 @ o swadf wefsar &
Ut g1
o D. 3ifaH fofg 39 v R R 81 o o afcrese foig @ Aol & weds w0 4§ a1 Wi fofg & durdt
&l

Question ID : 1034359104
Status : Answered
Chosen Option: C

Q.86 The value of the property recorded in the register of the municipality or any
government agency in order to determine the taxes to be collected from the owner
of the property is called:

Ans X A. capitalized value
< B. market value
4" C.assessed value

#< D. book value

Question ID : 1034359091
Status : Answered
Chosen Option : D




Q.87 IS 456:2000 & S1JHR, Wafera Hide dhle huRr= Aa¥ &l 99 G S w9 & Fu 7 711
SITQI, STef SpIaT STqUTd ______ @ W a1 39F TAT G|

Ans X A 16
X B.8
X C.10
o D.12

Question ID : 1034359187
Status : Answered
Chosen Option : D

Q.88 w9 Hide 19 gRT 9a-is u Wde Aief emar sirar @, at hare ansfa
STt 81

Ans X A derrge e
o B. eifcchie amsfam

5 C. 3RwTee g fam
< D. Fieex as

Question ID : 1034359133
Status : Marked For Review
Chosen Option : B

Q.89 wM At & wa & THT= =GR & forg fAr=fafaa A @ o= ar s ar=a @2

Ans X A.2cm AT I 3 gk (-4 S, gidels diHe dthie (12 : 4) aTen 39T g 9118 Y,
fores g8 &1 Uah ad &le gl
" B. TiHe a1 fondht e e arer g amfl & a8 5% geall & a1 2.5 cm HISTS aTell Hife
Shthic T 37 gk (H1-1eft) A1 g
X C. QAR &Y sriaRes a1 agd gdg e wire drgH a1 Wde AR ghi; S sige athdt & o=
Hic 3R I8 H Gl 1 TF hic g ATRY|

25 D. Eari &Y sriaRer ddg o= g @ gl g1 IRy ofk athdY & fiF wtel @ eant g1 @1fRy, ok
e TdE T A H WG ST AT

Question ID : 1034359095
Status : Answered
Chosen Option : A

Q.90 fa=fafia wyel d & geaie dedt ad) fasen @ ag= RifSq
1. that g1w1 fraffa gea ) a19IR gw7a et STTar gl
2. geagr¥ 6t &R ur fruffva gea &t 9 goa w1 s gi

Ans X A FYT1 TIE R 2 A |

X B.HYT2 90 g 3R 1 s Bl
o C.aH YT I8
X D.a i pYT A g |

Question ID : 1034359092
Status : Answered
Chosen Option : A




Q.91 faferg 19 & araa A fopeht digaa R & A3 fawerar a« (failure plane) dfastaz______
U3 T4 gaT 8,
STET ¢ STUTYUT UfARI T 10T 81

Ans . ] m
XA 45 5
XB 45"+ @
XC 45 —@

)

@D 45 ——
2

Question ID : 1034359117
Status : Answered
Chosen Option : D

Q.92 Water-cement ratio in concrete is the ratio of:
Ans X A.thevolume of water to the weight of cement

#5 B. the volume of water to the volume of cement
" C.the weight of water to the weight of cement

< D. the weight of water to the volume of cement

Question ID : 1034359175
Status : Answered
Chosen Option: C

Q.93 The flakiness index testis NOT applicable to the aggregate sizes smaller than
Ans  # A.63mm

25 B.10mm
25 C.5.5mm
5 D.7.7 mm

Question ID : 1034359168
Status : Answered
Chosen Option : D




Q.94 e &, 5@ gfe-¥ar smaa gt & ofk =1 ol daaa war war g, at s gd ______ *
a1 &) STt @, Sigh sirestae 119 Y f-hiehd gfY; d-onftehet dhe 3R ITSROT & aad 3181 &
st fit gft; S-wTw sRteM; | -ufafda &Y ard; 0 - I7a= Hvr i

Ans f
XA ?Ssinzﬁ' + (f + d)sinf

B ’:T.S'caszﬁ' +(f +d)cos8

xc %Scatzﬁ' + (f + d)cotf

X D. %Stanzﬁ' + (f + d)tan6

Question ID : 1034359107
Status : Answered
Chosen Option: B

Q.95 Liquid limit of the soil is determined in laboratory using ________.
Ans X A.unconfined compression test method

4" B. cone penetration method
#5 C.slump test method
#5 D. hydrometer method

Question ID : 1034359110
Status : Answered
Chosen Option : A

Q.96 fa=fafEda d @ 9 7a1 @1 U UahIR &, forasd given @fvst afenifyetarse o srafdes
ufasra gar g?

Ans X A SeqsT (Laterite)
< B. &g (Kankar)

/< C.gH¥ (Humus)
«# D.dcII8T (Bentonite)

Question ID : 1034359108
Status : Answered
Chosen Option : D

Q.97 fermifar aafarfAar (CBR) udaror &, Q@ w19 fUwe o1, forge dawer ______ arg
areAT gar g, SuaT______ &Y ATE &R A d S & fore farar srar g1

Ans  &# A.50 mm;1.25 mm/minute
25 B.40 mm; 1.0 mm/minute
#< C.30 mm; 1.75 mm/minute
#< D.60 mm; 1.5 mm/minute

Question ID : 1034359143
Status : Answered
Chosen Option: C




Ans

Q.98 fam=faf@a siepfa A vefva urwr-varg 6 R & forg foneht gt argy &t Twr=a fHsar (m)
AT RfAQI Sgi d a3 varg & 1g70E, D UTSy o1 =1y g, 3R R ursy R fBeur 1

o A m=E{
28
R (
T
R (
XC m—ﬁq‘
B
X D. m:ﬁt

Question ID : 1034359126
Status : Answered
Chosen Option : A

Ans

& A.30m
25 B.40m
X C.20m
X D.50m

Q.99 1S:4111 (M1 1) — 1986 & ATHR, VX e & forg =g Araefia T | arw farar 47 § ok
s wwrs ar fAdteror 3 forg Sa=r a8t s weRar g, & A9gte & dfia fir srfdman g

gi=ft =nfgq

Question ID : 1034359149

Status : Answered

Chosen Option : A

Ans

25 A.hyperbola

Q.100 The most widely used transition curve for small deviation angles for simplicity in
setting out is:

#< B.lemniscate curve

#< C. cubic spiral
«" D. cubic parabola

Question ID : 1034359101

Status : Answered

Chosen Option : D




o AT e @2
Ans o A TTET
< B.%age
X C. 9T
< D.3ege

Q.101 i-Fferaz 3 urqaer-ufsrar & 19 997 are gy Al § & e arghferan fRfedke’ &t

Question ID : 1034359086
Status : Answered
Chosen Option : A

Q.102 f&u 7y fe A uefia ywr-3@=+ Iuaror fY uganr_ fifsg)

= =

Ans X A usfandea
5 B.SWR

o C.2uA<s
25 D. fBwR

Question ID : 1034359079
Status : Answered
Chosen Option : A

Q.103 eafza & gragifore geidT 39 Uk g &Y 7 &:
Ans o TaTSe & T 1 SToT SaT & 718 ST
 TETEA & ST T STl SIRT T T 978 FAl
o TETEe & 2ATFE 9T AT
- T T A ZINT TS T IS FA

TETSA F 20T I 3TeTeL] HTAA
Eﬁﬁaﬂﬂ?mﬂaﬂﬁﬁﬂéﬁﬁ
o T W aEdiaes &9 T P arel Se &1 J1d=
. TETEA T AT [T T S T HIAT

Question ID : 1034359121
Status : Answered
Chosen Option : B




Q.104 foreft sradraRR atY & forg arat=aar (8s) H &Y Ara d Ffe o faesta Q @ war d@eu @?
Ans d@ 3dH
oA — =

Q0 2H
XB_Q=E
0 H
XC,QZM_H
Q0 2H
xo 20 _
g

Question ID : 1034359127
Status : Answered
Chosen Option : A

Q.105 feRTa+ gf® (stopping sight) it g& ar omt it geaar ol ATg= & Ig2a | IRC A ek & i@l
FTRAFES___ sRag R Fadasmr RN aagd______ & Tu A yearfaa i g1

Ans X A.1.7m;0.35m
' B.1.2m;0.15m
25 C.1.0m;05m
25 D.1.5m;0.25m

Question ID : 1034359142
Status : Answered
Chosen Option : B

Q.106 chehie &t gerrdar st ______ T IV Sh¥ch ATYT STAT B
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Question ID : 1034359170
Status : Answered
Chosen Option: C

Q.107 fA=fof@a syt 7 @ geais g6 gt e o1 =g fifsg
1. gT-%e, &g 311 & w1rur Hufw & gea | g7 areft sitfas g1 &t sragea= gt stan 21
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AT gl ST &l
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Question ID : 1034359093
Status : Answered
Chosen Option : A
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Ans & A .40 cumec
#< B. 35 cumec
< C.46 cumec
#< D. 56 cumec

Question ID : 1034359135
Status : Answered
Chosen Option: D
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Ans X A.35kN
% B.96 kN
2 C.68kN
& D. 48 kN

Question ID : 1034359125
Status : Answered
Chosen Option : D

Q.110 16 mm 3{iR 10 mm #HieTE arsl &t wiel @l 3as V 9¢ Ac8 ZIRT SIST 5141 81 9g wits 280 kN
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Ans X A.167 kN
7< B. 408 kN
& C.255kN
7 D.332kN

Question ID : 1034359181
Status : Answered
Chosen Option : B




